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YOAV/YNY Gl pod aladf = Jg¥1 ygdl = (Ao 220 ) sloas 31— Zolall A g3l | 2yl pLad | Balgs yloinl

c If A and B are two events of a sample space e sl e i O P OIS
S for a random experiment where A C B, then Eo O ASgde & ol
PBIA)=..... (P e)Jobe Dt

@ P b P®) (<) © OO
(© PA-B) @ P©) () O («-hB
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9 If A, B are two independent events of #l2d e il e (i e P OIS 13)
sample space for a random experiment , 0= (1) J A sie L ol G

P(A) = 0.5,P(B) = 0.6, Nk
then PAAUB) = .coccooe. T =(eUPJdok-=(2)d

@ 03 ® 11 @ RO,
© os @ o1 O A B

CV/C1N Joll jgaJl - A alpoll dulinl) GA Juj



YOAV/TAT Gty aladt = Jg¥1 5l (s ¥ 22U ) slicn 1 - Zolad g3l ds i ALl Balgas slomial

e Answer only two items from the items of this +dadd (.0 ,30 e N JIgud! B coa
question : Mg SISV L 65t Goine

A box contains 10 white balls , 15 red balls .Two
balls are drawn respectively without replacing,

&M;w@\sgeg\yijo

Calculate the probability: DRt OJ\}J \
(a) The two balls are red. rJLets! L‘a
(b) The second ball is red if the first is white. Ol S
() The second ball is white if the first is red. g SO b 2ol e B3RS

o I 01 Ly 10015 SO 86
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YOAV/TAT Gty aladt = Jg¥1 5l (s ¥ 22U ) slicn 1 - Zolad g3l ds i ALl Balgas slomial

o If the regression line equation Y on X is: Dlasd) Jas Aslae B

Y = bX + a, if the coefficient of ¥ is less than zero, (Pi o= ) o e

then the correlation between the two variables X LNIE Sao e B3 oo Joslne 515 13)
andY is............ '

...... Qﬂ 0P ¢ ot sl

@ nihilistic @ perfect Wt

@ direct @ inverse e
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e If the mean for a random variable equals 150 and | $slu b Slsis e Jawgadl 57 13]
its coefficient of variation equals 2.5 % ,then the 6 9l a3 Y L alan 985 Vo s

variance of the random variable equals ............ ) b
. S gdall ) nols ols 7 v, 0
(approximately ) < ) u—’ 0 O)
L; S 3 ol

@ 375 b)) 141 ey @ v (D
© 375 @ 194 e (O e &
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Yelv/YeNn ‘k_,.ml)..d“a\.ﬂ‘ - J3‘Y|)j.ﬂ‘ — (Ao ¥ aalL) slas M1 - dolal| 4y galid | Ayt alad ) Balgds (lomie!

6 If X is a normal variable whose mean U Ul Glsdie 13 dte o 08 13)
ar.ld its standard deviation O O & skndd! @81yl [ e gze

Find :
. u.\?ji's
First :P(x >u-—150) < ¢
Second : P(1—1.96 6 < x < p + 1.96 0) (GY,0-H<o)d Al

(o)VL+ U> s o), -1 J:Lt
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YOAV/YoNT Gl pof pladl = J 931 5501 — (A julond 1 AL i 31— Aolal gl At yud | pLad| B3lgt lomia!

o The following table shows the number of product | dsallas gl sae s JUIJ gad!
units (x) from a certain product and the cost of the | (e) 34>l G\:s!li\is 33 dal oo (o)
production of a unit (y) in Egyptian pound in seven C@y C\”m Gnn b & paadl agixdl

factories produce this product: 2l o
Number of units (X) 600 [ 1500 [ 1400 | 700 | 2000 | 2500 | 1500
v Olda oft ade T \O-- Vg Ve Veoo Yo \O«
Cost of one unit (Y) 30 24 24 25 20 20 23
o Sk o) AT . f3 ve Yo v Y. vy
Calculate the value of the spearman’s rank Oy 33V L3 sline !
correlation coefficient between the number of as 3T 5 doid| Slues Sl sie yo

product units (x) and the cost of the production of

. : PERE Y \
a unit (y)< then show its type. A w e

10
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YOAV/TAT Gty aladt = Jg¥1 5l (s ¥ 22U ) slicn 1 - Zolad g3l ds i ALl Balgas slomial

6 If A and B are two events of a sample space S fora | dus L o S oo P 813
random experiment where :

G &lpe &
P(4)=045,P(B) =06 , G g0 = (1) J b
P(B|A) = 0.8 ,then P(A|B) = «-eeeveee | S0/ IOk A= (b/o)

@ 06 ® 0.036 L @0 v (O
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e If Z is a standard normal variable, C slme Gando 1m0~ 018 13)
P(—k<Z<k)=0.8664,thenK=.... | . SO AT = (32 280 0 oS

@ 12 b 14 ve © v (D

13
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YOAV/TAT Gty aladt = Jg¥1 5l (s ¥ 22U ) slicn 1 - Zolad g3l ds i ALl Balgas slomial

@ If the marks of the students in an exam follow a3 O dmys w8 13
a normal distribution whose mean is 75 and its Jowgio lands B ) 5 de ) sl Ulouel)
standards deviation is 5 ,if the mark of a student A+ G 5\ud 0= 5 )l B 251 5 VO 0,03
e}clluals fi(O r?aglfs, thgn th.e st}zllpdard normal1 value for I iy &y jlamall Gy 1 S
the mark of this student in this exam equals ...... .~ | =~ PRUERERIEI

@ -1 ® 1 '@ - O
© 107 @ -1.07 v ey B
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@ If x is a discrete random variable whose probability | Wiaize Gl s se 15 ate ~m OIS 13|

distribution is as follows SIS JhsYlan j 5
Xr 0 1 2 3 4 ELY Y N sae |

flx) | 04 a 0.1 0.1 0.1 SR EAY RURY I N B A (GRS

Find : s 9l
First : The value of a

Second : The expectation and the standard
deviation of the random variable x

P i Yl
~ ial) g Jad) B il 853136
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@ If x is a continuous random variable, its
probability density function is :
F) = {%(x+a) when (0 < x <2
zero otherwise
Find :
First : The value of a

Second : P(% <x< g)

s Sz Bl g e 1 Gurte am OB 13

@ﬂdkbﬁf\isw
LA Bk
A3 lue L Ju-»
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@ Answer only one item from the items of this question: 13k 93,48 (e I Jfdudt (8 i
IfYx=56,Yy =40, xy =364 gz g0 X0l = WX oS3
Y x%?=524,Yy%* =256 andn=8 cYor=Tgp vtz o 3
Find : A=y cove=" W&
(a) Pearson’s linear correlation coefficient between WE I
x and Y and determine its type. ol o el LU Jalas -
(b) The regression line equation of ¥ on x . A =g 42 ¢
o s o2 sl Ja Wslas -
19
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